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Multiple Choice
Identify the choice that best completes the statement or answers the question.

L 1. Which statement about the figure is true?
A D
E X
C

a. Lines x and y intersect at point A4.
b. Points 4, B, and C are collinear.

—

c. ECand ED are opposite rays.
d. Another name for AE is AB.

2. Name three points that are collinear.

a. G H and/ c. F G and/
b. H G andJ d G J and/

3. What is the intersection of plane HGY and plane HFX?

E F
G/ H

]
w_]_J,

7

—

HZ

—

HZ
Point H
Plane EFH

S
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4. What is the length of ST?

S T

a. 7 b. 10 c. 3 d 4

. The endpoints of CD are C(6, 1) and D(—4, -1 ) Find the midpoint M of CD.

a. M(10,2) c. M(2,0)
b. M(-10,-2) d. M(1,0)

. .]7( has a length of 4.5 units. If LT/[ has endpoints L(3, 1) and M (—1, 4), how much longer than JT{ is

LM?
a. 0.5 unit c. 2.5 units
b. 2 units d. JK s longer.

. Name the acute angles in the given figure.

LCAD and £DAE
/BAC and LFAE
/BAF and LCAE
/BAD and LFAD

oo



10.

11.

12.

13.

If the measure of ZRST is 134°, find the measure of £QOST.

a. 67° b. 33° c. 34° d. 98°

m /A is 42° greater than m £B. If ZA and 4B are supplementary, find m £4 and m £B.

a. msA=111°, m/B =69°
b. m/A=42°, m/B =48°
c. mtA=42° m/B=138°
d mlA4=66° m/B=24°

Name a pair of vertical angles in the figure shown.

2\34
S
a. /2 and /4 c. /3 and /5
b. £1 and Z4 d. There are none.

Which describes the following polygon?

a. equilateral

b. equiangular

c. regular

d. none of these

Which of the following is a convex polygon?

. W :
b. <:> d.

0O
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14. Point M is the midpoint of AB. If AM = 12x+8 and MB = 10x + 15, find the length of AB.

a. 3.5 c. 50
b. 4 d 100
____15. Find CD.
A , B
x2-x+84+ + +

c '\D
X2+ 2x -7
a. 5
b. 28
c. 56
d. 96

16. Find the length of diagonal BC of ABCD to the nearest hundredth.

y B

2.83 units
5.66 units
6.32 units
7.21 units

moop

Numeric Response

17. Find the area, in square units, of a triangle with vertices X(—7, 2), Y(8, 2), and Z(6, 7).

Short Answer

18. A swimmer stands somewhere in a circular pool. The distance to the farthest side (through the center of
the pool) is 3 times the distance to the nearest side. The circumference of the pool is 100 feet.

a. How close is the swimmer to the nearest side?
b. How far must the swimmer swim to get to the center?
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Other

19. You are a surveyor. You take your first measurement facing due north. You turn to the right to take your
second measurement and then right again, 4 times as far, to take your third measurement. You are now
facing due west.

a. How many degrees did you turn to take your second measurement?

b. How many degrees should you have turned after your second measurement if you wanted to take your
third measurement facing south?

c. How many degrees must you turn to the left in order to take a fourth measurement in the opposite
direction of your second measurement?
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19.
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